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INSTRUCTIONS TO CANDIDATES :

Read the fo]lowing instructions before you answer the
questions. Answers are to be given in a SEPARATE OMR
ANSWER SHEET provided inside this booklet. Break the
seal and start answering the questions once asked to do so.

Please write your ROLL NUMBER very clearly (only one
digit in one block) as given in your Admission Card.

There are 90 questions in this test. The questions are
arranged in the following order :

* Questions 1 to 35 belong to Social Science Subjects.
* Questions 36 to 70 are on Science Subjects.
* Questions 71 to 90 are on Mathematics.

Select the most suitable answer for each question and
completely darken the circle corresponding to the correct
alternative as shown below.

Correct Method Wrong Method

P00 | OO

All questions carry ONE MARK each.

There is no negative mark. Every correct answer will be
awarded one mark.

Do not write your name on any part of the question booklet
or on the answer sheet.

Rough Work can be done in the space provided at the end
of this Booklet.

The Question Paper will be given in the form of a Question
Booklet. There will be four versions of Question Booklets
with Question Booklet Alpha Code viz. A, B, C, D.

9. The Question Booklet Alpha Code will be printed on the

top left margin of the facing sheet of the Question Booklet.

10. The Question Booklet Alpha Code allotted to you will be

noted in your seating position in the Examination Hall.

11. If you get a Question Booklet where the Alpha Code does

not match to the allotted Alpha Code in the seating
position, please draw the attention of the invigilator
IMMEDIATELY.

12. Check whether the Alpha Code given in the Question

Booklet and the OMR Sheet are the same.

13. The Question Booklet Serial Number is printed on the top

right margin of the facing sheet. If your Question Booklet
is un-numbered, please get it replaced by new Question
Booklet with same Alpha Code.
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Class - Vil

There are 90 questions in all. For each question
four alternative answers are given marked as (A),
(B), (C), (D). From these, find the most appropriate
answer. The number denoting the answer is there
in the answer sheet against the question number
concerned. Darken the circle with Blue/Black Ball
Pen only. Record the answers thus in the OMR
answer sheet only. Do not write anything in the
question booklet except your Roll Number on the
cover page and rough work in the space provided
for the purpose.

d. The Altamira cave is situated in :

(A)

(9/ Spain

France (B) TItaly

(D) Germany

2.  Which among the following is not a feature
of the Mesolithic age ?

{.3/ Settled life

(B) Hunting
(C) Use of microliths

(D) Cultivation
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3.

The names of certain sites and theijr ages are
given below. Match them correctly.

Sites Age
(a) Bhimbetka (i)  Neolithic Age
(b) Bagor (i) Chalcolithic
Age
(c) Catalhoyuk- (iii) Palaeolithic
Age
(d) Jarmo (iv) Mesolithic Age

(A), (@)-(i), (b)-(iv), (c)-(ii), (d)-(3)
@{ (a)-(iii), (b)-(ii), (c)-(i), (d)-(iv)
(©)  (a)-(itd), (b)-(), (0)-(ii), (d)-(iv)
(D) (a)-(v), (b)-(iii), (c)-(i), (d)-(ii)

Identify the Harappan site from where the

evidence of a ploughed field was found :
(A) Chanhudaro Kalibangan

(C) Dholavira (D) Lothal

The term ‘hieroglyphics” means :

(A) Sacred picture
Sacred writing

(C) Large stone

(D) Small plant

ENG+MAL

SAT

A

2flal B ((B6TR8IOS Galdidhalio @oOIWIOS
H0RIN M6 21)AI6S MM IER). @R
dlwowsl ewogdlalaanis.

G (3608 (D HOLlo
(a) Elogeniouie (@) omalm
udlelo@imo
(b) eruoemNID (i) ®@o@
uBlero@iuo

() cIE@ean0W)Hs (i) (I02flm
uilelo@ino

(d) =odemo (iv) Uy
wlelow)no

(A)  (@)-(ii), (b)-Giv), (©-Gi), (d)-G)
(B)  (a)-Gi), (b)-Gi), (0)-(i), (d)-()
(©)  (a)-(i), (b)-(i), (O-Gi), (d)-(v)
(D) (@)-Giv), (b)-(ii), (©)-(), (d)-(ii)

ev)® aflelenimes emslal eidle) and0q |
MOMVdHOD B30 BHEIENBBYD))db.

(A) 210Ma0iEoO0 (B)  &Hoelleniomnond
(C) ewosoafle (D) @elon®d

‘900a0e0oladles M’ ag)m alaemie
@odMO0 :

(A) aflkaw afli@o
(B) Qlltojabmo®@ ag)9y®vm
(C) olsmes el

(D) 6210l 6.2ls]



Class - Vil

6. Which among the following is not a city in
Mesopotamia ?
(A) Ur (B) Uruk
(.Q/ Shortughai (D) Lagash
7.  The Sangam work ‘Akananuru’ belongs to
the category of :
Pathupattu
(B) Ettuthokai
(C) Grammar
(D) Mahakavya
8.  Identify the main item of export from ancient
Tamizhakam to Rome.
(A) Cotton textile
(B) Iron tools
(U/ Copper tools
(D)ssPepper
9.  Which among the following was not a port
in ancient Tamizhakam ?
(A) Muchiri JB( Ur,
(C) Thondi (D) Vakai
10. Identify the first literary work in Sanskrit.
FJ/Mahabharatha (B) Ramayana
(C) Rigveda (D) Samaveda
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11:

12.

13,

14.

The statue of Gomatheshwar is situated in
the state of :

(A) Punjab (B)
(C) Tamil Nadu

Karnataka

Maharashtra

Identify the correct pair from among the

following :
Bindusara - Maurya dynasty

(B) Ajatashatru - Nanda dynasty

(C) Kalashokan - Haryanka dynasty

(D) Mahapadmanandhan - Shishunaga
dynasty

The value of latitudes increases from :
(A) Both the poles towards the equator.
(B) The equator towards both the poles.

d South pole to North pole.

(D) North pole to South pole.

The basic objective of resource conservation :

(A) To promote the use of non-renewable

resources.
(B) Wise and judicious use of all resources.
(g/ Reduce the use of renewable resources.

(D) To satisfy the needs of only the present

generation.

ENG+MAL

SAT

11.

12,

13.

14.

A

CWIMC®mW|0D (e qudl@] &2lgom
MorunoMo :

(A) adtermyoent (B)
(C) mdl¥mos (D)

a,fbemosoe:
DaNIaH(S

2lues ®milgesdd mlmo @l
GO B6)61MBEYD) k.

(A)  enflazmoemd - ooy MO0
(B) @0ZRO®UO@®) - M3 MORAIOUDO
(C)  B0RICUROSBM - aORE: 0ZRAIoUdO

(D) @a0oal@@M3Md - WBlKRMOm
00&CUolvo

@OHHO0MW  GOEUBSBIOS MILJo S|

QUM :

(A) o) (Wialemgl@d mlimio dWw)
W WE )

(B) owcmeuw@d ailomyo ED®}
(WiUETBE LI H6).

(C) eedlem (Wiuewl@ mlom 9EmE
(WO CRIDHE)

(D) somo (WiEm@ oo’ adesflem
(WD RIBs)

afleal monsueMEBIOm @oSIaaom

Bldh\o :

(A) addm3s MO0 allse 6 q]sSoam
alleaiemglons HaleWoo
GLOJO(UTUOQ.(ﬂQ‘:ﬂ&Q&cB:.

(B) aflecusmaiidojaie dlafleiemalimow
afleal ®ale@omo

€) adgmzaOoalldd ®q]sym
QlleUETBRIOS HIBWOIWO dhiOWHNE

(D) £09 ®EIDOWOS BO(@o BRDOICRETRD
mlosaigid.



Class - VI

15.

16.

‘ by

18.

19:

The unit for recording atmospheric
pressure :

(A) Farenheit
(B) Celcius
(C) _ Inches

Hectopascal

The major river flowing through Odisha :
(A) Mahanadi
(C) Krishna

Godavari
(D) Kavery

The period of North-East monsoon season in

(B) March to May
(C) October - November
(D) December to February

Match the following :

(a) Basalt (i)  Metamorphic rock

(b) Marble (ii)

(c) Limestone (iii)

Sedimentary rock
Igneous rock

(A)  (a)-(iii), (b)-(ii), (c)-(i)

(B) (if), (b)-(1), (c)-(iii)

(@)-
(©) / (a)-(iid), (b)-(1), (c)-(ii)
1‘7{ (2)-(1), (b)-(iii), (c)-(ii)
Identify the cultural map from the
following :
Natural vegetation map
(B) Weather map

(C) Relief map
(D) Land use map
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20.

21,

22

23.

24.

Proportionate volume of Carbon dioxide in
the earth’s atmosphere :

(A)
(©)

78.08%  (B) 20.95%

0.93% 0.03%

Representative fraction for the map scale
lcmto 5 km:

(A) 1:5 (B) 1:500

(Y 1:500000 (D) 1 : 50000

Lithosphere includes :

(M Crust and upper mantle
(B) Continental crust only
©)
(D)

Crust only

Crust and entire mantle

Sessions of Indian Parliament are summoned

by :
( The Prime Minister

(B) The President
©
(D)

The Speaker
The Chief Justice

A bill means :
(A) A Law in draft form
(B) , A decision in draft form

JQ/ A judgement in draft form

(D) An account in draft form
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25,

26.

27.

28.

29,

Every day the sessions of the Parliament in
India begins with :

(A) Zero Hour
(B) eliberative Session
( Question Hour

(D) Calling attention Motion

The Indian State having Bicameral legislature
1S

(A) Kerala (B)
(C) Orissa {

Tamil Nadu
Bihar

The joint sitting of Indian Parliament is
presided over by :

(A) The President of India

(B) ,Speaker of Lok Sabha
@/ Chairman of Rajya Sabha
(D) The Prime Minister of India

The First General Election in Independent
India was held in the year :

@Y~ 1950 (B) 1951
(C) 1955 (D) 1947

The First Chief Justice of Independent India
was :

(A) Justice Y.V. Chandrachud
(B) Justice H.]J. Kania
(CY Justice S.A. Bobde
(D) Justice K.N. Singh
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30.

31,

32,

33.

34.

The Central Cabinet meeting in India is
presided over by :

(A) The Speaker

(B) , The President of India
The Vice President

(D) The Prime Minister

Who is the present Chief Justice of India ?

(A)/ Justice Y.V. Chandrachud
(B)
(C) Justice D.Y. Chandrachud
(D) Justice U.U. Lalith

Justice N.V. Ramana

The disputes between two states in India are
heard by :

(A)
(B)
(©)

State High Courts
The Supreme Court
The District Courts

Special Courts

The Official residence of the present Prime
Minister of India is :

(A) Number 10 downing street
(B)
(C}/ 7, Lok Kalyan Marg
(D)

Teen Murti Bhavan
9, Race Course Road

Unicameral legislature exists in :

(A)
(©)

India

USA

Great Britain

(B)

China
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35.

36.

5 Y

38.

89

What is not true of Lok Adalath ?

(A) People’s Court

(B)
(©)

Voluntary judicial system

Dispose cases through negotiations

Unaffordable for ordinary man

Which of the following is the correct
representation of a unit in Physics ?

(.B)/cms

(D)

(A) Kelvin

(©) Pa Newtons

What would be the height of a mercury
column that can produce a pressure of 1
atmosphere ?

(Als 76 cm 46 cm

(C) 26 cm

Name the metal alloy which is mainly used
for making permanent magnet.

(A) Bronze (B)
(.94011

(D)
The ability of a material to pass magnetic flux
lines through it is called :

Brass

Alnico

(A) Permittivity

Permeability
(©)
(D) Viscosity

Penetrability
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Y Y
S §
EE
?§§ %s’,
(A) &§ (A) °§
& E
L P e e T e rerm T BT o T R T TR
Il Time in seconds mamo
Y Y
cE SE
=" %n
e £
(B) &% B) =
£ g
o T BT e o il LA 23 4 e
| Time in seconds : ' oo
Y Y
eI z
g g
SR éé
@ £
© Bt © Fg
.=E-’ | 3 ",‘5 I
012 7 B e mE L o 12 7 e S L
I Time in seconds [ mowo
Y Y
E E
x 3
cE| éE
E°n ’gg
"]
of & (D) Eg
£ E
0nd 2134 SHe " 0A 2, 3 8 6"
Time In seconds Mmoo
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41.

42.

43.

44,

A body is undergoing uniform circular
motion of radius 10 cm. The magnitude of
its maximum displacement will be :

From the following select a unit that can be
used to express pressure.

(A}/ pascal/cm (B)

(C) kgwt/ cm? (D) bar/cm?

newton/cm

The average distance between earth and sun

is known as :
(A) Solar unit

(B) Astronomical unit
(C) Parsec
\y/ Light year

A thermos flask usually used to prevent heat

loss by :

(A) conduction only

(B) convection only

(52/ conduction and convection

-(D)

conduction, convection and radiation

ENG+MAL

SAT
41.

42,

43.

44,

A

10 cm @ROOIES QYO aldluflaienes ao)
QUM®} MOAEmE IRIMESIIo6T. e
amvmain’  eodeElsndm  H¥loimm

aJO@OOIUS uadMo®me ag)® ?
(A) 0cm (B) 10 cm

{G)~3 205cm (D) 40 cm

®06% al0@IMAID@ of® @ienlgoem’

@ORHHIIOMD HAIGRIUIISHOUIM®)
(A) pascal/cm (B) newton/cm

(C) (D) bar/cm?

kgwt/cm?

clidd ailrmyo muerilealsanes wrowddl
B)00 @RGIORISIAM Gald :

(A) caomoéo@ ey

(B) @pmicsocemonlen®d @emlg
©
(D)

IO

(00D QUdaHo

O®MAEDOMY QMU TVOWOREM@IMS

(A) a10eimo AUYI@IR8 ®dalMatSo

IO BN
(B) MoladmMo Ufl@es ®moalMarSo

HIOWHIMNY

(©)

2l0BIMo, MoQladMo  ag)Mmlal
USlRIes ®oalMadiSo dhlOWENM]

2l0eIMo, MoanMo, allasl@emo
agomlal A¥leies  ®oalMadSo
HHIOWHNIMY.

P.T.O.
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45.

46.

47.

ENG+MAL

Siphon is a device that works on :

(A) Hydrostatic pressure
BY' Atmospheric pressure

(C) Osmotic pressure

(D) Thermal pressure

The position time graph of a moving object is
given below.

<

Position
10m 20m 30m 40m

456 F
Time in seconds

o

1 2HE3

Its average velocity of motion is :
(A) 9m/s (B) 5m/s
12 m/s (D) 15m/s

A piece of sodium is put in water. The
resultant solution will be

(A) acidic (B) basic

( neutral (D) amphoteric

14

SAT
45.

46.

47.

A
£60Meandamleq (U @D M A oy
@RWINMOW (alafl@dmo :

(A) BUH odGo

(B)  @ommdley adgo

(C) eomicamoglss mdco

(D) ®oal odqgo

80) aumealond 2lplnQimo ]
MMWOQIS  UoOm M@  (Woad
6180 )OY55| Glse) oM.

Y

E

2
£E
éé

§

R [RTe B e TR et

Moo

800 Al wowedl (aleaiwo :

(A) Om/s (B) 5m/s

(C) 12m/s (D) 15 m/s

80} 62151@ dhademo cmofi@o LG
mlesdallojo@ eidleniom  alo@mles
MU0 BRWI@B6)0.

i

(A)  @milauls, (B) 0@

(C) oldafay (D) scWAM



Class — VIl SAT
48. Which among the following mixtures cannot | 48.
be separated by sublimation ?

49.

50.

(A)
(B)
(©)

@/ Dry ice + Iron filings

Which among the following is false regarding
fuels ?

(A)

Camphor + Common Salt
Naphthalene + Sand

Iodine + Ammonium chloride

Liquid fuels burn more completely
when compared to solid fuels

(B) Fossil fuels are non-renewable sources
of energy

@/An ideal fuel does not produce any toxic

substances on burning

(D) CNG is an example for a non-
conventional source of energy

Which among the following are chemical

changes ?

(i)  Electroplating
(ii) Photosynthesis
(iii) Rusting

Decaying of fruits
(i) and (iii) only
(ii), (
(i), (ii) and (iv) only
(i), (ii), (iii) and (iv)

(iv)
o

(C)
(D)

(iii) and (iv) only

ENG+MAL
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49,

50.

A

01)016S N@H @0y 3l U3 et @d
a@ oMo’ @ ol ®MEWILIIOS
BUABBEHHOM MOUNDOHIED®) ?

(A) &baojivo + oo
(B) mondmelld®d + memad

(©)

@O @O M + @REMI6MIWo

BHOOOOW

(D) 66w Oag)M + eI 2fe)sd

EHIWMENBHE  aoeniauslal
(IM®OUME® ?

H®mAOW

(A) 60 SHIWMEREINIW] ®moomayo
£.21QEMIORD (B HAMWMEBRDHE
Aldha) RIBINDIEMBOOIOOIENE.

aflenzio MHEHOMOQUOE ©VOLR

(B)

G (VO VY BO6M BaNoMUl @
EDMLMEBBD

Q) =melaniemioid HEma HIWMETBID
a0 MM QU@ 86 D
©6NMB0dh Mg

(D) M. ag)M. € alooMICRY® VDR

G(MLO®QSIM} OBOAOEMDOET).

o6 Melsladlanymaled eomadgo
QRO®OOHE ?

()

6)6QUCY® GBlalMo

(ii)  (JHOUD MVOBERAUEMO
(ii) @RI0AO MOVDMO

(iv) alvemmd afloyma.
(A) (i) & (iii) @0(@o

(B)  (ii), (iii) & (iv) mo(@®o
(€) (i), (i) & (iv) @o@o
(D) (1), (i1), (iii) & (iv)

P.T.O.
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51

B2,

53.

54.

Which among the following is best suited to
make handles of cooking utensils ?

(.A/ Bakelite

(C©) PVC

(B)
(D) Teflon

Nylon

Which among the following metals possesses
the lowest melting point ?

(A)  Aluminium BY’ Galium

(C) Tin (D) Zinc

Which element gets its symbol from the Latin
word Stibium ?

Selenium

(A) Antimony (B)

(Cy/ Silicon (D) Tin

The WRONG statement relating to the metals
Copper, Mercury, Iron, Aluminium and Tin
is :

(A) All of them are sonorous at room
temperature.

(B)

Aluminium is not corroded completely
at room temperature.

@( Both Tin and Copper are malleable at
room temperature.

(D) Copper is added to gold while making

gold ornaments.

ENG+MAL
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SAT

51.

D2,

53,

54.

A

21)01es melslo@dleniMmau@ aldald,
AUO(®ETBRIOS o flletd Mildaleen0m a@Rlo
@OMNICRILMOIVEDO® ?

(B)
(D) ©S@qQo6Md

(A)  eonuseeerlg OOMELIVEM

(C) ol afl. mi

aiaes mefeloldenmaid aldlal
PR BHl0NES ELIaNEH®) ?

(B)
(D) a¥es

(A) @oepddileoe moeflwo

(C) b

.

gflenfl@o agm eogld alcmmii@d aflomyo
(Ifldo pIdla) mjelsean ?

(A)  eo@loer]
(C)  mileNensnd

(B) emelldlo

(D) 9B

CH0a|d, OORdHNA], DOIMI, @oe)dlml®o,
Slad  ag)om] @elvaneB®  Muosnimuil o)l
ORI (o lMI®ICUMER®) ?

(A)  OWoOEM Mmoalmlaidiiad snaleWLoo

eoemodldl (IBdudlaflenim;.

UOWOMEM ®alilelwfiad @re;dloflwo
allPEMaoWIo  GLIDANDMOWEBIM]
alflew@adsnilgy.

(B)

(€)  OWdOeM ®oalfleIafl@d e:0qd, Slad
®ISETEI®  GRlanmBes @S] al)

OO OHISIHROHH0MD VoUlealo.

(D)  mdemoceememdd mdalleeiemiond
M dEREAMOHSIa]o BhOQ]d s

C.21RBHIOYNE
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55. Which among these chemical reactions
produces a white colored product ?
(i)/ KCI+ AgNO; — AgCl+KNO,
(i) Ca(OH),+CO, - CaCO4+H,0
(i) 2Mg+0, — 2MgO
(iv) CuCO; —» CuO+CO,
(A) (i) and (i) only
(B) (ii) and (iv) only
(), () and (i) only
(D) (i) only
56. Which among the following molecules
contains three atoms ?
(A) Chlorine (B) Hydrogen
(C) Ozone ©f Sodium
57. Which among the following metals are less
dense than water ?
(A) Lithium
(B) dium
@Z’Ztassium
(D) All the above
58. x and y in the balanced chemical equation
3Cl, +xKOH — yKClO; +5KCl +3H,0 will
be :
1&1 (B) 3:4& 3
(C) 6&1 (D) 6&6
ENG+MAL
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SAT
99

56.

D74

58.

A

DABDELOM ROM ([ IUBEHMEIBEIED
OO mlomies @ almo
mels)mMale ?

(i)

(i)
(1)
(iv)
(A)
(B)
(©)
(D)

KCl+ AgNO, — AgCl+KNO;
Ca(OH), + CO, — CaCO5+H,0
2Mg+0, — 2MgO

CuCO; — CuO+CO,

(i) & (ii) @0(@o

(ii) & (iv) @o(®o

(i), (ii) & (iii) @O(@®o

(ii) @o(@o

anales melslaldenmauaid oo
@DREBUD EVSEEID MMI(EV® ?

(A) egodl (B) ©6an(wRam
(C) &ocavoend (D) emoall@o
21Q16S mei's:) & @166 Jom Sl @
REICOMHHO D (M ® & O 61010
GRIDANGD®) ?

A) eldlwo

(B) emoalo

(C) ealogomyo

(D) aeelad aloemmemg)oo

3Cl,+xKOH — yKCIO;+5KCl +3H,0
agym mudla@l.e) oM manIOsEilad X,
y agmilcuaes alleidswd agmoeidenio ?

(A) 1&1 (B)
(©) (D) 6&6

3&3
6 &1

P.T.0.
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59:

60.

61.

62.

Marble is used as a building material. The
elements present in marble are

(A) calcium, carbon and hydrogen
(B)/ calcium, carbon and oxygen
(C) carbon, hydrogen and oxygen

(D) chlorine, carbon and oxygen

Mushrooms are included in the kingdom :

(B)

(D) Animalia

Fungi Protista

(C) Monera

Peristalsis occurs in

(A)

(B)

( Digestive system

Nervous system

Respiratory system

(D) Reproductive system

Choose the pair which includes only
vegetative propagation.

(A) Grafting, hybridisation
Layering, grafting

(C)~" Hybridisation, tissue culture

(D) Budding, hybridisation

ENG+MAL
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SAT

59

60.

61.

62.

A

odgls Mdaoem@Din’ Hale@oUflenimm am
ammyaioem  aodenl@d. aodenfgld
@S6TEIRN G0N YLl Em30D

o

@M.
(A)
(B)
(©)

BHOMIMYo, BHoderIend, 660D
B0, BHORdeTIeND, 608>l
£HODENIEM, HOA0IWZRM, B0HTIIZRM
(D)  agodlad, &odenlem, 0B ML
IR0 OO ISIM EHloUiwo @REM :
(B) alatoggy

(D) moaieoell@

(A) anoeeR

(C©) emodlo

e al@lguodmilny’ MsHa3M @

o

@D
(4)
(B)
(©)

moaldl ayaimo
IR eT oWy ia
BaOm Qi
(D) (Ie@ajoem ajjaimn

&0 @1 (@@ 0BMo @o(®o
OROLOHO/HM 6ZROS] BIEETMSIHE b

(A) edeodd, cudw qusmemo
alafloudeom, adendd
QUBK ME:EeMo, Slatly Btdo)d

DiHIB0 BFHOM, WD TVB:EEMO
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63.

64.

65.

Match the two columns and choose the
correct option :

(A)

Sericulture

(B)
(a) Honey-bees
(b)
(©

(d)

Horticulture Fish

Apiculture Rabbits
Pisciculture Silkworm

Fruits and
vegetables

(&) @-(id), (b)-(v), (©)-(iv), (d)-(3)

(B)  (@)-(v), ®)-(). (0)-(v), (d)-(ii)
f})/(a)-(iii)' (b)-(v), (©)-(iv), (d)-(ii)

L) (@)-v), (b)-(v), ()-(), (d)-(ii)

A double membrane bound organelle is :

4]?{ Vacuole

(D)

(A) Nucleus

(C) Ribosome Lysosome

Choose the correct statement.

Carl Linnaeus is the father of Botany.

L/ John Ray used the term “species’.

(C) Carl Woese proposed five kingdom

classification.

Charakan binomial

nomenclature.

(D) proposed

ENG+MAL
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SAT
63.

64.

65.

A

6NE @H-0860RMD ®anfl@d 6.2l0jonlS] G IB®TY
NAQOW 60ala BHEOETTSIEOIH.

(A) (B)

(a) eoMaileHBad (1) emiloy

(b) Ga0ORGHD B (i) a®No

© ogoflodgd (i) oo

(d) ol ayd (iv) algIMIBali9)

(v) al¥o, aloeed]

(A)  (a)-(i), (b)-(v), ()-(iv), (d)-(0)

(B)  (@)-(iv), (b)-(i), (c)-(v), (d)-(ii)

(©)  (a)-(ii), (B)-(v), (c)~(iv), (d)-(ii)

(D)  (@-(iv), (B)-(v), (0)-(1), (d)-(ir)

EDOg MIBOMEE CHIN00MNO @RS :

(B)

6)6)0OG6erI0BM0o0 (D) 6)EIBLIOBMVI0

(A) odao @aOMo

©

NAWOW (AIMI®ICUM @ OOETHSIB)d>.

(A) #00 ellem@ay qumyCLMI@ @Y 63
aflmocuoen.

(B) emoem c0 miaflafloy’ agom al@o
9alewouil ).

(C) #»oB udM  @pem’  alowiWwo
UdUSlamoemo dJafledlaly.

(D) alosHm aflmoo ol AL
@ Nat 6.2,

P.T.O.
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66.

67.

68.

SAT

Choose the incorrect statement

(A) Assimilation is stage in the process of
nutrition.

(B) Kidney is an excretory organ,
Skin is not an excretory organ.

Haemoglobin carries oxygen and
carbon dioxide.

Which one of the following is not an
agricultural practice ?

(A) Hydroponics
(B)
(C) Polyhouse farming

Aeroponics

DY Tissue culture

Observe the flow chart that shows the levels
of organisation. Find out A and B from the
options.

Cell

Organ

Organism

@/A - Tissue, B - Cell organelle

(B)
(©)

A - Cell organelle, B - Tissue
A - Tissue, B - Organ system

(D) A - Organ system, B - Tissue

ENG+MAL
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66.

67.

68.

3

A
PAWEOED (MDD BFOETMSIENH,

(A)  Galoayem (alElQ6el 60 *RISMmoeNy

MVj0oUBldm6Mo.
(B)
(©)

(D)

QU 8} AflTARMOAIROIREM.
@6 Aflrudgmoci@alo @0L.

adleaosgoenflad B0 M1 ROMW o
H0DENIEM WEDOLHOMAIOMW]o
Qa6 iomy.

220165 O@HAAGHMAUDI Bryad Bl
@BRLJOEDE® afy® ?

(A)
(B)
(©)
(D)

£HANE(WIBAIO6NTIId Y
Q) QEO0GAI06N| MY

GalogllanDMY anodilevs

Slaygy) D2 d

aeismo melemd® mallaflaeim @qQo
21005 wyavleais. A, B agomlal
8300]a¥MBEl@ oo HeeN3Emd:.

BH0UDO s A _— >
@l —> B —_
Zal

(A)
(B)
(©)
(D)

A - &el, B - @00000000
A - G50U000N0, B - hel
A - #el, B - @ooloal afjalon

A - @U@ Qlyaumun, B - &2l
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69.

70.

7.

4 2

IPMisa:

(/ Pest control measure

(B)
(©
(D)

Disease control measure
Pollution control measure

Pathogen control measure

Choose the option which includes only
connective tissue :

w/ Cartilage, Muscle

(B)
©)

(D)

Bone, Trachied
Blood, Bone

Muscle, Trachied

If the sum of a number and its reciprocal is 2,
then what is the sum of their squares ?

o

(€)=3

(B2

(D) 1

A mixture of 40 litres of milk and water
contains 10% of water. How much water
should be added to make 20% of water in
new mixture ?

(A) ,4 litres
l/ 9 litres

5 litres

(B)
(D) 7 litres

ENG+MAL
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SAT
69.

70;

715

72i

IPM ag)m® &0 :
(A) s MloEmsm @odwo
(B) @mow mleEmem modwmo
(C) oeldlsoem dlomen modwo

(D) oA MleEmem Mmodwo

QOB dhel MO(@o HBOQSIM B0alatd
S OOETDSIHE) b

(A) ®oemoaudl, caludl
@ocudl, ([Sossdlauy
oHMmo, @l

CalWdl, ([SHelay

=1 Moey®io @0 @60}
U@ (SHOOTIOM@I0 ®idh 2 @OWIT
@OOUQOS URREIBRIOS (PP:
ag)@@oen’ ?

(A) 4 (B) 2

© 3 (D) 1

aJoello@®io saissEmo@®io 40 eNgd
alwleowlad oalggo 10% e,  ag)(@®
OQI8R0 ¢ IAEMI@ 20% USSR @SR
ool dlgglmo HeMBoHHOM Blwie ?

(A) 4elgd (B)

(D)

5 ellgd
(C) 9 elgd 7 eflgd

P.T.O.
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/5.

74.

74

ENG+MAL

The figure shows a square of side 5 units and
A, B, C, D are mid points. What is the area
of the shaded square ?

s

&/ 10 Sq. units

(C) 5 Sq. units

(B) 15 Sq. units

(D) 12 Sq. units

If the cost price of 20 articles is equal to selling
price of 16 articles, then what is the gain
percent ?

(A) 20% (B) 25%

(D/ 30%

©) 27%

Which of the following is the simplifieci form

v0.324 x 0.049 5
0.0021 ;

of

(A) 6 60

go/ 0.6

(B)

0.06

(D)
22

SAT
73

74.

i P

A

aflmesd@, A, B, C, D agomial 5 @emlg
Urales @0 — Mool®ecies
Umemgles  oavy  ma33e0806m.
#0allafidlsoym (VD I®IEETIOR
aloa8al ag)@@oem ?

A

(A) 10 o). @l (B) 15 ol @iy

©) 5.1 g (D) 12 .21 @y

20 mowmemges sl allel 16
mowmesBgles allg afleidies) @maymOod
£I0@ (RDIMo ag)(® ?

(A) 20% (B) 25%

(C) 27% (D) 30%

21QIes 6)dh0S Y @ H6) 30N U @ @D
J(W O eloal} Malo aRm ?
(A) 6 (B) 60

(C) 0.6 (D) 0.06
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76. If 3x543 is a 5 digit number which is exactly
divisible by 11, then what is the digit "x’ ?
oé/ 4 (B) 5
© 6 (D)ES7

77. If the sum of two numbers is 50 and their
difference is 10, then what is the product of
the numbers ?

(A) 500 (B) 550
(©) 59 @/ 600
78. (5890)2— (5889)%= :
(A) 11000 _@Aszw
(C) 5890 (D) 11779
79. What is the remainder when (3581)2 is
divided by 8 ?
(A)zxd B 2
\(Q/ 3 (D) 4
ENG+MAL

SAT

76.

77,

78.

79.

A

3x543 ag)Mm@’ 11 edHoens mletvatio
a0 8HOM HEIWIM B0} @OERUHE Vo6
@O®OM ‘x O MUOIMOE® @HEO
agmoeny ?

(A) 4 (B) 5

© 6

Q6 Mo6UBHEIOS @i 50, @AIWIHS
ay@yomo 10, EPWOM (MVoe)HEINS
mieMmmanelo ag)@® ?

(A) 500 (B) 550

(C) 590 (D) 600

(5890)2 — (5889)2 =
(A) 11000 (B) 5889

(C) 5890 11779

(D)

(3581) agiM@leOm 8 106N an®] 0@
BladdSo ag)® ?

(A) 1 (B) 2
C) 3

P.T.O.
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80. The figure shows a regular hexagon and a

regular pentagon put together. How much
is ZABC ?

¢ w0

(C)ae12e (D) 13°

81. If an amount invested at compound interest
becomes ¥ 800/- in 2 years and ¥ 840/- in
3 years, then what is the interest rate ?
(A) 5% ® 4%
) 6% DY 7

82.

What is the ratio of areas of the square to that
of equilateral triangle in the figure given
below ?

of i

23

V3:2

20

(B)

© (D) 2:1

ENG+MAL

SAT

24

A

80. ollmomd M@aYS BRI 0

MaalemIERAe ¢.0ld@mi2lEleiMmy.
ZABC ag)m@oeny ?

C

(A) 10°
©

(BlE 1

123 (D) 13°

81. 5l leltd demenosO B0} alaaiaid
afledtinll o) @i 2 Aidatto o6 800/-
®lal®o, 3 «ibado 606N 840/-

01000, aleflor Mlass) ag@@oen) ?
(A) 5% (B)
(©) (D)

4%

6% 7%

82. womlalenym alll@ewles VDGR
(@les0emedflodwio Ma.aimecEloi@io
al0]8als® manlelgs ®@oUdeNIMUo

ag)amoen’ ?

(A) V2:43

RN

(B) J3:2
(©)

\
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83. Which of the following is the simplified form
2
(5%)° x (5°)°
of 3 5 ?
(52)" x (5%)
(A) 52 (B) 125
sy 1
25 L) s
84. The figure shows a trapezium with parallel
sides of lengths 2, 10 units and area
18 sq.units. What is the area of the shaded
triangle ?
10
(A) B sq.units (B) 5 sq.units
( 6 sq.units (D) 9 sq.units
85. The shaded portion in the figure is a regular
pentagon and the sides are extended to form
a triangle. What is the value of angle x ?
@/ﬂf’ (B) 36°
(@) 54 (D) 50
ENG+MAL

SAT

83.

84.

85.

25

A

21)Q16S 6 05 3@ 16630 L @S| @D

(54 x (5%’ s
(52)2 7 (54)5 oM elealdalo af®

(B) 125

1
@) =
aleemd eardaeaym 18 o). @lenlg
0o 8088 elomidbalang MRNmEMOW
QUmemales mgesd 2, 10 @em.
sl aflcleoym  (@lesoemarnsio
alogjaal ag@woen ?

(A)
(C) 6 sq.units

3 sq.units

(B)
(D)

5 sq.units

9 sq.units

2l@emld 503l afldlenymae e} ma
AleRIRIRMOEM. @OAIWIOS QUUEMBUD Mg
el 8l (@lesremo mldadlofldleniom;.
X )M CHIMBAS ag)@@o6em ?

(A)
(©

P.T.0.
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86.

87.

88.

The figure shows a circle of radius 3 units.
What is the length of the side AB ?

(A) 3 units 3.1 units

(B)

(D/:L units

(C) 2.9 units

When 5t of a number is added to the number,
we got 60. What is the number ?

(A) 30

& s

(B) 40

(D) 70

A mobile phone has a 4 digit number lock.
How many attempts should be made to
unlock, if the first two numbers are 3 and 8 ?

7

(C) 90

(B) 80

(D) 100

ENG+MAL
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SAT
86.

87.

88.

A,

aleosd 3 @iy EpEMESs Qe
oaridlenimy. AB agm alnerilod algo
af)(®@oem’ ?

(A) 3 units (B) 3.1 units

(C) 2.9 units (D) 4 units

80 Moalewos Enallem @oemfld em
)5l 0B 60 Hlg). TVoaY) ag@oem ?

(A) 30 (B) 40
(C)wi504 (D) 70
80) OO eCandeml@  moel

@OHOEBRIONS VORI LT HENS. BREIOETD
@6eNE" Mo6ydh( 3, 8 EDWI@ alE@oUS]
Q)@ QUYEIV® YDEBPD MSET @O
G006M OB B0 ?

80

(A) 70 (B)

(C) 90 (D) 100



Class - VIl
89,

y

In a calendar, a square of four numbers is
marked. If the sum of the numbers is 56, then
what is the largest number ?

(A) 10 (B) 11
() 17 \(9)/18

90. Ticket rate for entrance in a park is ¥ 10 for a
child and ¥ 20 for an adult. If ¥ 900 was
received from 50 persons, how many children
were there ?

\(ﬁ(ﬂ 0 (B) 11
< 12 (D) 13
-00o0-
ENG+MAL
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SAT

89.

90.

(A) 10

A

80 Helenzclad moel Moaljdhales 6803
A2 1m0 SISO |SIOTG]BlEe30mM3.
MoEHBINS Midh 56 @RWOM, afROI0
alell@ Mol ag)@m@osny ?

(A) 10 B) 11

C) 17 (D) 18

9BJOMATCRAIDH) HSHNHIMIBE (A IBINdM
afly’ 51 H8IES® T 10 ®po
m@ldeMaes® T 20 @y@oem. 50 Galdl@d
almyo T 900 H1SIOT ag)(@® B>S]dH0d
oemowiioymy ?

(B) 11

©)

12 (D) 13

-000-
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